	Word problem on percentage: Problem type 3 

The price of a cup of coffee has dropped to 
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today. Yesterday's price was . Find the percentage decrease. Round your answer to the nearest tenth of a percent. 
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	We will first compute the amount of decrease in the price of a cup of coffee from yesterday. By subtracting today's price from yesterday's price, we find: 

Amount of decrease: [image: image3.png]$2.45 —$2.10 = $0.35



 .

In order to find the rate of decrease, we divide the amount of decrease by yesterday's price. 

Rate of decrease: [image: image4.png]


How do I divide a decimal???? I know I have to divide by 10, but I am lost 

                                                       On how to properly divide by decimals???

                                                       Please explain and give me some detailed example(s) that will make me 

                                                          Easily understand.
We convert this rate to a percentage by multiplying it by [image: image5.png]100



. 

Percentage decrease: [image: image6.png](100X 0.1428..)% = 14.28-%



  
Rounding to the nearest tenth percent, we have 

[image: image7.png]14.28+% =~ 14.3%



 .

Thus, the answer is [image: image8.png]
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